'-.-F _.‘-\-H}.:'_Pd-'\-\._h
L L

- 2021.6.4V1.0



h,

.
BLACK ROBOT CHASSIS
1PC

i

i N
L9110S MOTOR DRIVE BOARD







?EWHHIJEHER

1
o e l-

- -
SPARE PAR
| IN 1KIT
o
Hie HE
J AL EH




K

ZHIYISE

Thank you for purchasing Zhi Yi Technology
product "mini DIY obstacle avoidance car". This
tutorial will teach you how to assemble your

obstacle avoidance car.




The first part: the construction of the car

Remove the protective film before use

Please install ultrasonic here

Please install here with Please install it here

in yellow
M3 * 25 copper pillar
fixing main board

the red mark
Fixing the drive plate
M3 *10+6

copper column

Please install it here

Motor fixing bracket

Please install the cardan wheel Please install the battery box

here marked in blue here with the green



Acrylic installation of copper column

Fix m3 * 25 copper column on acrylic base plate with M3 * 8 flat head screw, pay

attention to direction

M3 * 25 copper
column

On the left side of the acrylic base plate is the

positioning hole for fixing the drive module

Install the motor retaining bracket
Put the motor bracket into the hole corresponding to the acrylic base plate, and

pay attention to the direction

M3 * 25 copper
column

Motor fixing bracket


https://fanyi.baidu.com/translate?aldtype=16047&query=&keyfrom=baidu&smartresult=dict&lang=zh2en
https://fanyi.baidu.com/translate?aldtype=16047&query=&keyfrom=baidu&smartresult=dict&lang=zh2en

A

ZHIYI

i

®

fix a motor

Match the screw hole of the motor with the hole of the motor bracket

Match the screw hole of the motor with

the motor bracket

fix a motor

Match the screw hole of the motor with the hole of the motor bracket

Use m3 * 30 screw to

insert into the hole




A

ZHIYI

iR

U2
tk

fix a motor

Lock motor with M3 nut

Lock the inserted m3 * 30

screw with M3 nut

fix a motor

Figure after motor installation




K

ZHIYI

i

U2
tk
=1

Install Cardan wheel

Use m3 * 8 screw to fix m3 * 25 copper column on Cardan wheel

Universal wheel M3 * 8 screw

M3 * 25 copper

column

Install Cardan wheel

Use m3 * 8 screws to fix the universal wheel on the bottom plate of the car

“~ Use m3 * 8 screw to fix at

the back



K

ZHIYI

i

tk
=1

Install Cardan wheel

Installation complete diagram

Use m3 * 8 screw

Install the wheel

Install the trolley wheel on the TT motor shaft




Install the wheel

Installation complete diagram

Install the ultrasonic fixing bracket

Figure when ultrasonic bracket and ultrasonic module are not spliced

Ultrasonic fixing Ultrasonic module

bracket




Install the ultrasonic fixing bracket

Install the ultrasonic module into the bracket as shown in the figure below

Install the ultrasonic fixing bracket

Fix the ultrasonic module and bracket with m1.6 screws and nuts

M1.6 screw



Install the ultrasonic fixing bracket

Figure of fixation completion

;p suj
vYOo1sd

.

Fun} 3

Install the ultrasonic fixing bracket

Fix the ultrasonic module on the bottom plate of the car

Secure bracket with M3 *

12 screw and M3 nut

10




Install the ultrasonic fixing bracket

Installation complete diagram

Use m3 * 12 screw

Install the battery box

Use m3 * 8 screws and nuts to fix the battery box on the car bottom plate

Use m3 * 8 screw

11



K

ZHIYISE

Install the battery box

Installation complete diagram

Use m3 nut

Use m3 * 8 screw

12



Installing the expansion board

Fix the expansion board on the M3 * 25 copper column with M3 * 8 screws

Fix with M3 * 8 screw

Eszocn goooon) (= lw| 7|

s@é{lf —-‘,-

Installing the expansion board

Fix the expansion board on the M3 * 25 copper column with M3 * 8 screws

13



Installing the expansion board

Installation complete diagram

14




Install the motor drive board

Fix m3 * 10 + 6 copper pillar to the trolley bottom plate with M3 nut

Use m3 * 10 + 6

copper column

Install the motor drive board

Installation drawing of copper column

Use m3 nut
Usem3 *10+6

_/ copper column

15



Install the motor drive board

Fix the motor drive module on the M3 * 10 + 6 copper column with M3 * 8 screws

Motor drive module

M3 * 8 screw

Install the motherboard

Will ZY_ Insert the nano motherboard into the expansion board as shown in the

figure

sooocoon eeocecen @

|
<
@
8
L)
o
<
<]
<
@
&

16



A

ZHIYI

U2
tk

The second part: the connection of trolley line

Schematic diagram of line connection

1 I

¥

oe 1383 ——=—
]{?l

S L;_W

o000l

(s}

oo (=M= @

r—a
=

c
S &
e

. (i ni)“c.((l-}) .
| FE A ! il
| E! |

1O

-~ A A A A A

pm| eee

ZY 9¢ JRY EY ZY Y OU

; .O-)'—,-, n
.0‘ o o "'. = ®

-
(=]

17



18



19



ZHIYISE

The third part: refer to the drawing after the car is assembled

20



0 » - —
sl Ry "ﬂ"‘
e DO ] \
SN IR -~
i

thank you!

21



